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AA2 Graphing Inequalities

To graph a linear inequality:

solate the variabley just as you would if you were
working with a linear equation(Remember to reverse
the inequality if multiplying or dividing by a negativ
Arrange the inequality in slope-intercept form. fHis
not in the equation, solve fox.)

Graph the line. Use a solid lineif your inequality sign
is < or = Use a dashed line if your sign is< or >

%{Shade the correct side of the line. Ify < ...ory < ...,
shade belowthe line. Ify >...ory > ..., shade above
the line. (Ifx < ...orx < ... shade to theleftof the line.
Ifx >...orx 2 ... shade to therightof the line.

(Or, in order to see which side of your line to shade,
test the point (0,0). If (0,0) is a solution of your
inequality, shade the side containing (0,0). If not,
shade the other side.)
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Tes+ @; [2p)

Graph %’;if’égﬂg T u
. O=< | 4rue ~ !

2. Since y < ..., -
shade below ’ 5
the line, — U
because y 7 Lt
gets less ' lj;
when you go S L_1_LI—_
down. ' = ,‘Hj—{j_
7L T

N R ITﬁ_i_

Practice Problem 2

Example:

Graphy <2x + 1.

1. Graph y=2x+1.

(Because we

have <, we will

draw a dashed

line.)

Practice Problem 1
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Practice Problem 3

y > -3x-2
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AA2 Graphing Inequalities

Practice Problem 4

X =2

Practice Problem 6
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Practice Problem 5

y>3

CAREFUL |fF¥ou use the |ntercepts to graph!)
fgracflce roblem 7
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